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@ SageMath(ell

Type some Sage code below and press Evaluate. ‘F -,L

f(x) = 2"°x-10*x
fp(x) = diff(f(x),x)
nx(x) = x - £(x)/£fp(x)

#initial guess
X0 = 0 I CO\\/(VM )

x1 = nx(x0)
x2 = nx(xl)
x3 = nx(x2)
x4 = nx(x3)
x5 = nx(x4)
show(xl.n())
show(x2.n())

Evaluate

0.107447707554933
0.107755012358786
0.107755015000272
0.107755015000272
0.107755015000272
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(h) f_’l ( — 2h (x)) dx, where h is the function graphed below.
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7. Comsader the function graphed below.

(a) Estimate the right Riemann sum with three (evenly spaced) subdivisions of the
interval [0, 3].

(b) Estimate the left Riemann sum with three (evenly spaced) subdivisions of the

interval [0, 3] .
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(c) Estimate [ h(x) dr
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